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Class

Date

o Which indicator is yellow in a
solution with a pH of 9.8? ==

A metnyi orange
B hremthy O tee \
(+} cresl grean 1
D H

When 50. milliliters of an HNO, solution
is exactly neutralized by 150 milliliters
of 2 0.50 M solution of KOH, what is the

cf n of HNO,?
A 1.6-0
B 15M
C :0OM
D 05M

e Which ion is produced when an Arrhenius
base is dissolved in water?

ALl il L H s z L

If 5.0 milliliters of a 0.20 M HCI solution is
required to neutralize exactly 10. milliliters
of NaOH, what is the concentration of the

e \.
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A substitution

B saponification h}{,ﬁ:as — /
i i

C ionization U
D nauiatizalic Bf s

At's tréssufe when/Nacl is
added-ig rlthelsetution will have-a

A higher freezing point and a lower boiling
point than water

B higher freezing point and a higher
boiling point than water

C lower freezing point and a higher boiling
point than water

D

lower freezing point and a lower boiling
point than water

between reacting particles . —

A decreases
B ¥ e,
C rernaing the seme

Which 0.1 sol Litian| conteins
an electrolyte?

A CgH,,04(aq)
B CH,COOH(aq)
€ CH;0H(aq)
D CH,;0CHj,(aq)
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